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���.3     �����, �	������ ���� �� 
��� !, ����	 � �
������� � �� 
	�� " 	 # �� 
���
(" ���	 ����� �� 
	�� ! 	 #). $���� �����, �	������  ���� �� 
��� !, ����	 �
�
��������� � �� 
	��  D 	 % (�� 
��� D ���	 ����� �� 
	�� ! 	 %). &������� �,  �
����	�� "D 	 #% �� ����	 �� � �� 
��� F, ����� ���� F%=1 	 !#=2!%. 

�) $� �� ��
���,  � �%DF=�BCF.  
�) $� �� �����	 ����	���� �� ���� 
���  FD. 

(7 �����)

����� �� ���	
� - 4 ����.
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	 #). $������ ����������, �	

	 % (�� 
����� D  D ���	�� ��
 �� � �� 
������ F, F ����� ��
� �%%DF=DF=��BCF.  B

����	��������	�� �� ���� 
�������

��� ��� ���	
����	
� - 4  - 4 ����

��������� ��� ������ ! 
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���.1 $�����	�	�� ��������	 �� �������	�	�� ��  x>0, y'0, x(y (1,5 �����). 
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++−= 02222 =−−−++= yxxyyxyx  (2�����).

���.2 "��)�� ),( 00 yx �� ����*����� �= 142 2 ++− xx � � 
����	���	 1
20 =−=

a
bx 	

3)1(0 == yy . ���������� 1)0( =y -����� �� �� 
� � ���	������� ��, � ��

0142 2 =++− xx �
2

62
2,1

±=x -����� �	 �� 
	 � �*��	����� ��.

�� �=−2<0����-���
��� �������� b �� ���
�	��� �  � 	�������� [-3;0] �
29)3( −=−= yb  (1 �����) 	  ���-��������  �������� � �� ���
�	��� �  � 	��������

[-3;0] � 1)0( == ya   (1 �����).
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$��	�	�	������ �*���� �� ������������� � 2,1 ≠−≠ xx (1 �����).
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#����������� ]3,2()2,1(]2,( ∪−∪−−∞∈x  (1,5 �����). 

���.3   �) �%DF + �%DB=180 0  (������	 ���	)  (0,5 �����) 	
�BC%+�%DB=180 0 (CEDB-��	���  ��	�	�����	
) (1 �����),  
��
�����  �%DF=�BCF      (0,5 �����). 

�) +�	�����	�	�� ADC 	 ABE �� ����*�	, ������ 	��� �*� ����, � ���	�� ACD 
	 AEB �� ��	��� �� )������ BD, �.�. �ACD=�AEB (1,5 �����).  

+����� 2==
AE
AC

BE
CD     (0,5 �����).

!�����	 �� ΔBEF~ΔCDF    (1,5 �����),

������������ 2===
BF
CF

BE
CD

EF
DF   (0,5 �����),

��
����� 22 == EFDF     (1�����). 
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  ( 0,50,5 ����

� ����*�	��*�	, ����������� 	���
�ACD=D=��AEB (1,5 (1,5 ��
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